11. MECHANISM EXPLODED VIEW

FOR OPH-41

\

NOTE: Parts excluded in the parts list are not stocked

since they are seldom required for routine service. Some
delay should be anticipated when ordering these items.

-2 —



12. CABINET EXPLODED VIEW

n

Mechanism

Display
P.C.Board

7

é/324

_(XR-35 ONLY)

q |\<%,324 _.~"(Remote |

Control

I

\ [
ST T o Unit) |
| 40 o |
o330 | 55 |
#1321 epop !

|
! I 335~ |
e e P J
XR-30/35

NOTE: Parts excluded in the parts list are not stocked
since they are seldom required for routine service. Some
delay should be anticipated when ordering these items.

—922 —



13. CABINET PARTS LIST

service parts matching to your unit.
* For identification of laser pickup, refer to page 8.

= 93—

" gﬁeUTK%qu,_the Location No. circled with oval in the schematiq diagram _and ;he parts list QEsignate components which have special
characteristics important for safety and should be replaced only with types identical to those in the original circuit or specified in the
parts list.
Location Part No Description Lo Part No Description
No. ’ No. :
301 20017319 | Front Panel Ass'y (XR-30, 326 22708045 Screw, $3 x 8mm, PAN
OPH-21/23, BLACK) Tapping
301 20017325 | Front Panel Ass’y (XR-35, 327 22708118 | Screw, $3 x 8mm, BID
OPH-21/23, BLACK) Tapping
301 20017347 | FrontPanel Ass’y (XR-30, 328 22707798 Screw, $3 x 10mm, PAN
OPH-41, BLACK) Tapping with Washer
301 20017339 | Front Panel Ass’y (XR-30, 329 22708539 | Screw, ¢3 x 6mm, BID
OPH-41, SILVER) 330 22707361 | Screw, $2.6 x 8mm, PAN
301 20017349 | Front Panel Ass’y (XR-35, Tapping
OPH-41, BLACK) 331 22708593 | Screw, Pick-up
301 20017340 | Front Panel Ass’y (XR-35, 333 22907225 | Caution Sheet (OPH-21/23)
“ OPH-41, SILVER) 333 22007259 | Caution Label, Screw
301 20017356 | Front Panel Ass’y (XR-35, (OPH-41)
OPH-21/23, SILVER) 334 22764321 | Joint, Labber
301 20017355 | Front Panel Ass'y (XR-30, 335 22882198 Battery Cover (XR-35)
OPH-21/23, SILVER) 336 22907257 | Caution Label, Screw
302 20831941 | Tray Panel (OPH-41, BLACK)
303 20872192 | Knob, Eject 336 22907256 | Caution Label, Screw
304 20872213 | Knob, Play (OPH-41, SILVER)
305 20872212 | Knob, Pause 336 22907282 | Caution Label, Screw
_ 306 20872210 | Knob, UP (OPH-21/23, SILVER)
307 20872211 | Knob, DOWN 336 22907162 | Caution Label, Screw
308 20872209 | Knob, Memory (OPH-21/23, BLACK)
309 20872224 | Knob, Power
310 20872126 | Knob, Volume, Slider
311 22874027 | Foot
312 25761545 | Cushion, Mechanism
313 20823127 | Top Cover
314 22766243 | Cushion, Display P.C. Board
315 22764374 | Cushion, Special Screw
'« A| 316 25844322 | Cord Bush
317 22764307 | Joint, Power Switch
320 22707911 | Screw, 3 x 8mm, BID
Tapping
321 22702202 | Screw, 3 x 8mm, BID
Tapping
322 22705020 | Plastic Rivet
323 22708033 | Screw, $3 x 10mm, BID
Tapping
324 22707910 | Screw, $3 x 6mm, BID
Tapping
3256 22708022 | Screw, $3 x 6mm, PAN
Tapping with Washer
CAUTION:
- Two kinds of laser pickups (OPH-21, OPH-23/OPH-41) are used for XR-30/XR-35. Mechanism, cabinet, and

certain electrical parts are not interchangeable if the pickup is different. Check your unit and order correct




212 ARl

B | ot I s o

vl iggbe Ol | —oN\N ..

CAUTION:

parts list.

CAUTION:

14. PARTS LIST

The A mark, the Location No. circled with oval in the schematic diagram and the parts list designate components which have special
characteristics important for safety and should be replaced only with types identical to those in the original circuit or specified in the

Two kinds of laser pickups (OPH-21, OPH-23/OPH-41) are used for XR-30/XR-35. Mechanism, cabinet, and
Check your unit and order correct

certain electrical parts are not interchangeable if the pickup is different.

service parts matching to your unit.

*

For identification of laser pickup, refer to page 8.

Location o Location .
No. Part No. Description No. Part No. Description
Q907 AB6058730 | Transistor, 2SK365-BL
ICS, TRANSISTORS & DIODES Q908 AB6868350 | Transistor, 2SD1413
Q101 AB6325540 | Transistor, 25C2236-Y Q909 A6058730 | Transistor, 25K365-BL
Q102 22117698 IC, NJM2904D Q910 A6533240 | Transistor, 2SA966Y
Q911 A6868350 | Transistor, 2SD1413
Q201 B0274300 | IC, TD62004P
Q202,203, | AB534440 | Transistor, 25A1048-GR D101,102 | A7160570 | Diode, 1SS176
204, 205, D201,202 | A7160570 | Diode, 1SS176
206, 207, D203 A8635485 | Diode, TLG4385
208, 209 D204, 205, | A8636570 | Diode, TLS164
Q210 22117822 IC, TMP42C40P-1011 206, 207,
(XR-35) 208, 209
Q301 B0325460 IC, TA7354P
Q302 A6332440 | Transistor, 2SC2458-GR D301,302, | A7160570 | Diode, 1SS176
Q303 22117550 | Transistor, PST520D 303, 304,
Q304 22117817 | IC, TMP4740N-5534 305, 306
Q305 AB534060 | Transistor, 2SA1015-GR /
Q306 B0412000 IC, TC9200F D901,902 | A7160570 | Diode, 1SS176
Q307 B0412010 IC, TC9201F A p9o3 22119188 | Diode, SIVB10
Q308 B0483585 IC, TC5518BFL-20 (T) D904 A7116525 | Diode, 04AZ6.2Z
Q309 B0377580 IC, TA8101N D905 A7116415 | Diode, 04AZ5.6Y
Q310 22117709 IC, NJM3403AD (For OPH-21)
Q311 AB342210 | Transistor, 25C2878-B D906 A7116525 | Diode, 04AZ6.2Z
Q312 22117698 1C, NJM2904D D907 A7116415 | Diode, 04AZ5.6Y
Q313 B0470532 IC, TC4053BP D908 A7116915 | Diode, 04AZ9.1Y
Q314, 315 B0377590 IC, TA8102P A\l D909 22119188 | Diode, SIVB10
Q316, 317 B0377590 IC, TA8102P
Q318 A6332440 Transistor, 2SC2458-GR
Q501 B0272760 IC, TD6709N
Q502 B0271770 IC, TD6102P
Q503 22117716 IC, NJM2068D-D
Q504, 505 A6058730 Transistor, 2SK365-BL
Q506 A6534440 Transistor, 2SA1048-GR E LECTR lCAL PARTS
Q507, 508 A6342210 Transistor, 25C2878-B
Z201 22153383 | Oscillator, 2 MHz (XR-35)
Q901 A6534440 Transistor, 2SA1048-GR 2202 22117745 IC, BX-1392 (XR-35)
Q902 AB342200 Transistor, 2SC2878-A
Q903 A6058730 Transistor, 2SK365-BL Z501,502 | 22137774 | Low-pass-filter
Q904 A6868350 | Transistor, 2SD1413 Z503 22153390 | Oscillator, 67 MHz
Q905 AB058730 Transistor, 2SK365-BL
(For OPH-21/23) L101 22291189 | Choke Coil, 10uH
Q906 A6533240 Transistor, 2SA966Y L501 22291401 Choke Coil, 0.22uH

(For OPH-21/23)

- 04 —




B bbbk B

B

s

Lolc\:la:.lon Part No. Description Lo;ac:.'on Part No. Description
T901 22224612 | Power Transformer C201 22341223 BL, 0.022mfd, 50V, Z
(U.S.A., Canada) (XR-35)
T901 22224805 | Power Transformer (Europe) C202, 203 | 22361220 CD, 22pF, 50V, J (XR-35)
T901 22224614 | Power Transformer (U.K.)
T901 22224615 | Power Transformer C301 22483470 | EL, 47mfd, 10V
(Australia) €302 22488338 | EL, 0.33mfd, 50V
T901 22224616 | Power Transformer (Others) C303,304 | 22361330 | CD, 33pF, 50V, J
J11 22198227 | Jack, US-2P (For OPH-21/23)
S101 22196598 | Leaf Switch, Tray, C303,304 | 22361330 | CD, 68pF, 50V, J
Open/Close (For OPH-41)
$102 22196719 | Leaf Switch, Pick, Start Limit C305 22483221 | EL, 220mfd, 10V
S201,202, | 22196228 | Key Switch C306 22360880 | BL,0.1mfd, 16V, Z
203, 204, €307 22485220 | EL, 22mfd, 16V
205, 206, C308 22361709 | CD, 7pF, 50V, D
207, 208 C309,310 | 22360544 | BL,0.01mfd, 25V, K
S901 22196362 | Switch, Power (U.S.A., c3m 22483101 | EL, 100mfd, 10V
Canada, Australia, Europe, C312 22360880 EL,0.1mfd, 16V, Z
Others) C313 22483101 | EL, 100mfd, 10V
S901 22196465 | Switch, Power (U.K.) c314 22360880 | BL,0.1mfd, 16V, Z
EPO1 22176286 | Power Cord (Europe) C315, 316, | 22361470 | CD, 47pF, 50V, J
EPO1 22176588 | Power Cord (Australia) 317,318
EPO1 22176574 | Power Cord (U.S.A., Canada) C319 22488229 | EL, 2.2mfd, 50V
EPO1 22176628 | Power Cord (U.K.) (For OPH-21/23)
EPO1 22176680 | Power Cord (Others) €319 22488478 | EL,0.47mfd, 50V
EPO2 22120106 | Remote Control Unit, (For OPH-41)
RM-86 (XR-35) €320 22361220 | CD, 22pF, 50V, J
C321 22371393 | MY, 0.039mfd, 50V, J
C322 22483470 | EL, 47mfd, 10V
C323 22349101 | CD, 100pF, 50V, K
C324 22349221 | CD, 220pF, 50V, K
C325,326 | 22361470 | CD, 47pF, 50V, J
C327 22349221 | CD, 220pF, 50V, K
CAPACITORS (For OPH-21/23)
D =%0.5pF,J =%5%, K =110%, M = +£20%, Z = —20+80%, C328 22372333 | MY, 0.033mfd, 50V, K
P=—0+100% €329 22488109 | EL, 1mfd, 50V
ABBREVIATIONS: EL = Electrolytic, BL = Barrier Layer, (For OPH-21/23)
CD = Ceramic Disk, MY = Mylar, C329 22488229 | EL,2.2mfd, 50V
PP = Polypropylene (For OPH-41)
c101 22440240 | EL, 100mfd, 10V €330 22488228 | EL,0.22mfd, 50V
C102 22440240 | EL, 100mfd, 10V C331 22371153 | MY, 0.015mfd, 50V, J
(For OPH-21/23) (For OPH-21/23)
C102 22360880 |BL,0.1mfd, 16V, Z €331 22371183 | MY, 0.018mfd, 50V, J
(For OPH-41) (For OPH-41)
C103 22440240 |EL, 100mfd, 10V €332 '22360544 | BL,0.01mfd, 25V, K
(For OPH-21/23) C333 22468479 EL, 4.7mfd, 50V
c103 22483470 |EL,47mfd, 10V C334 22445220 | EL, 22mfd, 16V
(For OPH-41) C335,336 | 22478109 | EL, 1mfd, 50V
C104 22360329 |BL,0.022mfd, 25V, M C337 22371104 | MY, 0.1mfd, 50V, J
(For OPH-21/23) C338,339 | 22360881 | BL,0.047mfd, 16V, Z
C104 22360330 |BL,0.033mfd, 25V, M C340,341 | 22483101 | EL, 100mfd, 10V
(For OPH-41) C342,343 | 22360881 | BL,0.047mfd, 16V, Z
C105, 106, | 22341103 |CD, 1000pF, 50V, P C344,345 | 22483101 | EL, 100mfd, 10V
107 C346, 347, | 22360881 | BL, 0.047mfd, 16V, Z
348, 349

— 95—




Location oo Location L
No. Part No. Description No. Part No. Description
C350 22361270 | CD, 27pF, 50V, J C910 22443471 EL, 4.7mfd, 10V
C351 22488229 | EL, 2.2mfd, 50V co11 22488479 | EL, 4.7mfd, 50V
(For OPH-41) c912 22443471 | EL, 470mfd, 10V
C352 22483101 | EL, 100mfd, 10V Cc913 22483101 EL, 100mfd, 10V
C353 22349102 | CD, 1000pF, 50V, K C914 22483221 | EL, 220mfd, 10V
C354 22371823 MY, 0.082mfd, 50V, J C915 22485102 EL, 1000mfd, 16V
(For OPH-21/23) Al cote 22340150 | CD, 4700pF, 400V, M
C354 22371104 | MY, 0.1mfd, 50V, J CD, 4700pF, 400V, M
(For OPH-41) (Australia, U.S.A., Canada,
C355 22360584 | CD, 2pF, 50V, C, CH Europe)
C356 22483470 | EL, 47mfd, 10V C916 22340205 | CD, 4700pF, 400V, M (U.K.)
C357 22361220 | CD, 22pF, 50V, J
C358 22349102 | CD, 1000pF, 50V, K RESISTORS
All resistors are carbon film 1/6W, 5% unless otherwise
C503 22361509 | CD, 5pF, 50V, D noted. K =1000, M = 1000000
€504, 505 | 22482102 | EL, 1000mfd, 6.3V R101 | 22584104 | 100K ohm (For OPH-21/23)
C506 22362270 | CD, 27pF, 50V, J
R101 22584103 | 10K ohm (For OPH-41)
C507 22361509 | CD, 5pF, 50V, D
R102 22584104 | 100K ohm (For OPH-21/23)
C508 22341103 | CD, 0.01mfd, 50V, Z
R102 22584331 | 330 ohm (For OPH-41)
C509 22483101 | EL, 100mfd, 10V
i o | e e g R103 22584471 | 470 ohm (For OPH-21/23)
bin il ' P R103 22570738 | 18K ohm, Metal Film, 1%
' (For OPH-41)
4 PP
C51 22331084 , 180pF, 50V, J - BT | dxbahms (Eor BRELETI0)
C515 22321058 | PP, 1200pF, 50V, J ehed SRI077 | M Elan 0
C516 22371272 | MY, 2700pF, 50V, J - SP:,M)eta im, 1%
C517,518 | 22485100 | EL, 10mfd, 16V ’
' ' ' R105 22570727 i
C519 22371102 | MY, 1000pF, 50V, J (QI':iKO"m';ff;‘) il
€520 22321084 | PP, 180pF, 50V, J il
. AL e R105 | 22584105 | 1M ohm (For OPH-41)
C521 22321058 | PP, 1200pF, 50V, J :
R106 22570719 | 470 ohm, Metal Film
C522 22371272 | MY, 2700pF, 50V, J e Tmae
C523,524 | 22485100 | EL, 10mfd °
’ , 10mid, 16V R106 | 22584102 | 1K ohm (For OPH-41)
C525 22371102 | MY, 1000pF, 50V, J g 22570735 | 10K ofm. Motel Ei
C526,527 | 22371163 | MY, 0.01mfd, 50V, J F (Z)PT-I,21e/t2a3) b
or =
528 22445100 | EL, 10mfd, 16V
2551 552 | 22349331 | CD 303rgpF 50V, K el 22584472 | 4.7K ohm (For OPH-41)
' ‘ ’ ’ R108 22570737 | 15K ohm, Metal Film
(For OPH-21/23)
1 22446101 | EL, 100mfd, 25V
C90 61 00mfd, 25 R108 22584100 | 10 ohm (For OPH-41)
€902 22483101 | EL, 100mfd, 10V
903 22485222 | EL, 2200mfd, 16V R109 | 22584563 | 56K ohm (For OPH-21/23)
! ’ R109 22584104 | 100K ohm (For OPH-41)
(For OPH-21/23) R110 22584102 K
€903 22485332 | EL, 3300mfd, 16V 1Kzohmm ,
(For OPH-41) R111 22570703 22 ohm, Metal Film
(For OPH-21/23)
C904 22485100 fd, 16V
g R111 | 22584108 | 10K ohm (For OPH-41)
€905 22443471 | EL, 470mfd, 10V
g SAZE105: | Cr onore. 18V R112 22584102 | 1K ohm (For OPH-21/23)
' g ; 1 4 i
For @i fog) R113 22584103 | 10K ohm (For OPH-21/23)
€906 22485331 | EL, 330mfd, 16V gE o Batia || B
co07 22485100 S| R202 | 22584222 | 2.2K ohm
EL, 10mfd, 16V R203 22584330 | 33 ohm
— S— (For OPH:21/23) R204 | 22584392 | 3.9K ohm
fFL' 4(;2;1?1, /12%\)/ R205 22584222 | 2.2K ohm
or =
R206 22584330 | 33 ohm
€909 22488479 | EL, 4.7mfd, 50V e S9EEA955 | BIOK Ghih

— 26—

‘2




Sy“rlr;t.)ol Part No. Description Syl\l;‘;t?ol Part No. Description
R208 22584222 2.2K ohm R333 22584153 15K ohm
R209 22584330 33 ohm R334 22584392 | 3.9K ohm
R210 22584392 3.9K ohm R335 22584682 | 6.8K ohm
R211 22584222 2.2K ohm R336 22584683 | 68K ohm (For OPH-21/23)
R212 22584330 33 ohm R336 22584563 | 56K ohm (For OPH-41)
R213 22584392 3.9K ohm R337 22658884 100K ohm, Semi-fixed
R214 22584222 2.2K ohm Variable
R215 22584330 33 ohm R338 22584225 | 2.2M ohm
R216 22584392 3.9K ohm R339 22658884 100K ohm, Semi-fixed
R217 22584222 2.2K ohm Variable
R218 22584330 33 ohm R340 22584183 18K ohm (For OPH-21/23)
R219 22584392 3.9K ohm R340 22584103 | 10K ohm (For OPH-41)
R220 22584222 2.2K ohm R341 22584682 6.8K ohm (For OPH-21/23)
R221 22584330 33 ohm R341 22584392 | 3.9K ohm (For OPH-41)
R222 22584392 3.9K ohm R342 22658901 20K ohm, Semi-fixed
R223 22584222 2.2K ohm Variable
R224 22584330 33 ohm R343 22584223 | 22K ohm
R225 22584103 10K ohm (XR-35) R344 22584103 10K ohm
R345 22584104 100K ohm (For OPH-21/23)
R301 22540782 2.2K ohm x 4, Composite R346 22584225 | 2.2M ohm (For OPH-21/23)
Resistor R347 22584473 | 47K ohm
R302 22540781 5.6K ohm x 6, Composite R348 22584472 4.7K ohm
Resistor R349 22584103 10K ohm (For OPH-21/23)
R303 22584222 2.2K ohm R349 22584182 1.8K ohm (For OPH-41)
R304 22584682 6.8K ohm R350 22584472 | 4.7K ohm (For OPH-21/23)
R305 22547339 3.3 ohm, 1/2W R350 22584682 | 6.8K ohm (For OPH-41)
R306 22584103 10K ohm R351 22584152 | 1.5K ohm (For OPH-21/23)
R307 22584104 100K ohm R351 22584122 1.2K ohm (Fer OPH-41)
R308 22584224 220K ohm (For OPH-21/23) R352 22584103 | 10K ohm (For OPH-21/23)
R308 22584124 120K ohm (For OPH-41) R352 22584332 | 3.3K ohm (For OPH-41)
R309 22658884 100K ohm, Semi-fixed R353 22584333 | 33K ohm (For OPH-21/23)
Variable R353 22584103 | 10K ohm (For OPH-41)
R310 22584184 180K ohm (For OPH-21/23) R354 22584155 | 1.5M ohm (For OPH-21/23)
R310 22584683 68K ohm (For OPH-41) R354 22584475 | 4.7M ohm (For OPH-41)
R311 22584683 68K ohm R355 22584472 | 4.7K ohm (For OPH-21/23)
R313 22584153 15K ohm R356 22584272 | 2.7K ohm (For OPH-21/23)
R314 22584333 33K ohm R356 22584152 1.56K ohm (For OPH-41)
R316 22584564 560K ohm R357 22584473 | 47K ohm (For OPH-21/23)
R317 22584151 150 ohm R357 22584563 | 56K ohm (For OPH-41)
R318 22584102 1K ohm R358 22584153 | 15K ohm
R319 22584104 100K ohm R359 22584101 100 ohm
R320, 321 | 22584822 8.2K ohm R360 22584183 | 18K ohm
R322 22584103 10K ohm R361 22584224 | 220K ohm
R323 22584223 22K ohm R362 22584104 | 100K ohm
R324 22584824 820K ohm R363 22584683 | 68K ohm
R325, 326 | 22584123 12K ohm R364 22584103 | 10K ohm
R327 22584103 10K ohm R365 22584272 | 2.7K ohm (For OPH-21/23)
R328 22584154 150K ohm R365 22584222 | 2.2K ohm (For OPH-41)
R329 22584153 15K ohm R366 22584473 | 47K ohm
R330 22584103 10K ohm (For OPH-21/23) R367, 368 | 22570743 | 47K ohm, Metal Film
R330 22584153 15K ohm (For OPH-41) R369, 370 | 22570738 | 18K ohm, Metal Film
R331 22584102 1K ohm (For OPH-21/23)
R332 22584822 8.2K ohm

=D




Lo;a:on Part No. Description LOT\T:.on Part No. Description
R369, 370 | 22570743 |47K ohm, Metal Film, £1% R523 22584471 470 ohm
(For OPH-41) R524 22584221 220 ohm
R371 22584823 | 82K ohm R525 22584104 | 100K ohm
R372, 373 | 22584684 |680K ohm R526 22584102 | 1K ohm
R374 22584334 | 330K ohm R527 22584473 | 47K ohm
R375 22584103 | 10K ohm R528,529 | 22584182 | 1.8K ohm
R376 22658828 |50K ohm, Semi-fixed R530 22584103 | 10K ohm
Variable R531 22584183 18K ohm
R377 22584224 | 220K ohm R532 22584124 | 120K ohm
R378 22584103 | 10K ohm
R379, 380 | 22584102 |1K ohm R901 22584104 | 100K ohm
R381 22584333 | 33K ohm R902 22584392 | 3.9K ohm
R382, 383, | 22584229 |2.2 ohm R903 22584223 | 22K ohm
384, 385, R904 22584473 | 47K ohm
386, 387, R905 22584471 470 ohm
388, 389 A\ R906 22500166 | 1ohm, 1/4W, Fusible
R390 22584102 | 1K ohm A R907 22500167 2.2 ohm, 1/4W, Fusible
R391 22547339 | 3.3 0hm, 1/2W Al R908 22500201 1 ohm, 1/2W, Fusible
R392 22584472 | 4.7K ohm (For OPH-41)
R393 22584153 | 15K ohm (For OPH-41)
R394 22584183 | 18K ohm (For OPH-21/23)
R394 22584153 | 15K ohm
R394 22584123 | 12K ohm
R395 22584103 | 10K ohm ACCESSORIES
R396 22584223 | 22K ohm ACO1 22004983 | Owner’s Manual (U.S.A.)
R397 22584124 | 120K ohm (For OPH-21/23)
R398 22584105 | 1M ohm ACO1 22908185 | Owner’s Manual (U.S.A.)
R399 22584122 | 1.2K ohm (For OPH-41)
ACO01 22904984 Owner’s Manual (Canada)
R402 22584332 | 3.3K ohm (For OPH-21/23)
ACO1 22908181 Owner’s Manual (Canada)
R501,502 | 22658828 | 50K ohm, Semi-fixed (For OPH-41)
Variable ACO1 22904985 | Owner’s Manual (Europe)
R503 22584123 | 12K ohm (For OPH-21/23)
R504,505 | 22584562 | 5.6K ohm ACO1 22908182 Owner’s Manual (Europe)
R506 22584474 | 470K ohm (For OPH-41)
R507 22584104 | 100K ohm ACO1 22904986 | Owner’s Manual (U.K./
R508 22584562 | 5.6K ohm Australia) (For OPH-21/23)
R509 22584122 | 1.2K ohm ACO1 22908183 | Owner’s Manual (U.K./
R510 22584822 8.2K ohm Australia) (For OPH-41)
sl 22555106 | 10M ohm, 1/4W AC02 | 22164775 | Connect Cord
R512 22584223 | 22K ohm
R513 22584471 | 470 ohm
R514 22584221 | 220 ohm
R515 12584104 | 100K ohm
R516 22584102 | 1K ohm
R517 22584473 | 47K ohm
R518 22584562 | 5.6K ohm
R519 22584122 | 1.2K ohm
R520 22584822 | 8.2K ohm
R521 22555106 | 10M ohm, 1/4W
R522 22584223 | 22K ohm

— DB




CAUTION

USE OF CONTROLS OR ADJUSTMENTS OR PERFORMANCE OF PROCEDURES

OTHER THAN THOSE SPECIFIED HEREIN MAY RESULT IN HAZARDOUS RADIA-
e TION EXPOSURE.

OBS! Apparaten innehaller laserkomponent som avger laserstralning dverstigande gransen for laserklass 1.

ADVARSEL
“CLASS 1 LASER Denne merkning er anbragt udvendigt pa apparatet og indikerer, at
) appapatet arbejdgr med laserstraler af klasse 1, hvilket betyder, at der
PRODUCT anvendes laserstraler at svageste klasse, og at man ikke pa apparatets

yderside kan blive udsat for utilladelig kraftig straling.

- APPARATET BOR KUN ABNES AF FAGFOLK MED SAERLIGT
KENDSKAB TIL APPARATER MED LASERSTRALER!
ADVARSEL : USYNLIG LASERSTRALING
VED ABNING, NAR SIKKERHEDSAF- Indvendigt i apparatet er anbragt den her gengivne advarselsmarkning,
BRYDER ER UDE AF FURKTION. som advarer imod at foretage s&ddanne indgreb i apparatet, at man kan
UNDEA UDSATTELSE FOR STRALIKS. komme til at udsatte sig for laserstraling.
Varoitus: Laite sisdltda laserdiodin, joka lahettaa nakymatonta silmille vaarallista lasersateilya.
CAUTION: This equipment contains a laser diode which causes invisi-
ble laser radiation, which is dangerous to eyes.
- Inside of the equipment, there is a warning marking of laser radiation.

"CLASS 1 LASER CAUTION: This model is classified as a “CLASS | LASERPRODUCT".

PRODUCT"

CLASS 1 LASER
PRODUCT




TOSHIBA CORPORATION

1-1, SHIBAURA 1-CHOME, MINATO-KU, TOKYO 105, JAPAN



